
 
 

Class: VII Subject: Mathematics Topic: Integers Worksheet 1 

 

Objective Type Questions: 

 

Fill In The Blanks: 

 

Q1: The greatest negative integer is  . 

Q2: The multiplicative identity for integers is  . 

Q3: Additive inverse of -98 is  . 

 

True or False: 

 

Q4: The product of seven negative integers is negative. ( ) 

Q5: 81 ÷ (-9) = (-81) ÷ 9 ( ) 

 

Q6: (-1) × (-1) × (-1) × ……… 10 times is equal to: 

A. 1 

B. -1 

C. 1 or -1 

D. None of these. 

 

Q7: 3 × 0 is equal to 

A. 0 

B. 3 

C. 1 

D. -3 

 

Q8: The integer whose product with (-1) is 1, is 

A. -1 

B. 1 

C. 0 

D. None of these. 
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Q9: If x ÷ 1 = 8, then x is equal to 

A. 8 

B. 1 

C. – 8 

D. – 1 

 

Q10: The value of 58- (5×5) + 12 is 

A. 21 

B. -21 

C. 45 

D. None of these. 


